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E: Last time we saw

that

det(=

by expanding
on column 3.

Let's calculate this again

but expand on row
1
.
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~Propertiesof thedetermin
is

matrices. Then
:

① det (AT) = det (A)

② det (AB)
= det(A)

: det (B)

③ If det(Al
= 0
,
then A

does not exist
.

④ If det (A)
0 , then

At

does exist
.

⑤ If A"exists ,
then

det (A-") = ce(A)



Formulafor Al if A is 2x

Let A =()
Then det (A) = ad-ba

If ad-be # 0
,
then At

exists and

#



Ex: A = (2)
det(A) = 4 - (

- 6) = 10 + 0 .

So
,
A"exists

and

Al= +) =((

=(i)
det (A) = (1) (- 2) - (1)( - 2)

= 0

A"doesmot exist.

-



Ye: In general
,
if A

is nxn and det (Al #0 ,
then

A = actAl : M

where M is the "adjugate
matrix

-


